COMPLETING SENTENCE

RULES:

(xi) As/since/when:

Structure: As/since/when + sub + verb(past/present) + obj + ext + , + sub +
verb(present/past) + obj + ext.

Example: (a) As he is weak in math, he goes to tutor.
(b) Since you were not ready for the exam, you would not pass in the
exam.
(c) When you will come to our house, I will give you the book.

(xii) In spite of/despite:
Structure: Sub + verb + obj + ext + in spite of/despite + (possessive +
noun)/noun/(possessive + verb + ing + noun).

Example: (a) He is honest in spite of his poverty.

(xiii) Instead of / In lue of :
Structure: Instead of / in lue of + noun + sub + verb + obj.

Example: (a) He ate fish instead of meat.
(b) Instead of pencil he took pen.

(xiv) Lest:
Structure: Sub + verb(present/past) + obj + ext + lest + sub + should/might +
verb(present) + obj + ext.

Example: (a) Read attentively lest you should fail in the exam.
(b) He walked past lest he should not see me.

(xv) Let alone:
Structure: Sub + verb + obj(v/n) + let alone + v/n.

Example: (a) He can not get daily food let alone rich food.
(b) He can not read let alone write.



(xvi) Relative pronoun (who, which, that):

Structure: 1. Sub + verb + obj + ext + relative pronoun + verb + obj + ext.
2. Sub + relative pronoun + verb + obj + ext + verb + obj + ext.

Example: (a) I know the man who is a doctor.
(b) The pen which is given by my friend writes well.

(xvii) High time / It is the time:

Structure: 1. it is the time/high time + sub + verb(past) + obj + ext.
2. It is the time/high time + to + verb(present) + ext.

Example: (a) It is the time/high time we left the place.
(b) It is the time/high time to leave the place.

(xviii) Because of / on account of / owing to / due to:

Structure: Because of / on account of / owing to / due to + cause + result.
Cause = (verb + ing) / noun / (possessive + verb + ing /noun)
Result = Sub + verb + obj + ext.

Example: (a) He could not attend the meeting because of his illness.

(xix) Would you mind:
Structure: would you mind + verb + ing + obj + ext.

Example: (a) Would you mind giving me the pen.

(xx) Would rather:
Structure: Would rather + sub + verb(present) + obj + ext + than + verb.

Example: (a) Would rather I take tea than coffe.

(xxi) As long as / So far as:

Structure: As long as / So far as + sub + verb + obj + ext + , + sub + verb + obj +
ext.

Example: (a) So far as | know he is a good boy.



(xxii) Would that / Wish:

Structure: 1.Practical— Sub + verb(future ind) + obj + ext.
2. Impractical— Sub + verb(past ind) + obj + ext.

Example: (a) 1 wish I will make a good result.
(b) I wish I would fly in the sky.



